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Class / Homework

Practice Page 40 - 43
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Homework solutions

page 40
3 a) cylinder on a cube
2 cm
4 cm =
4 cm h=
4 .cm
4cm

Area of cylinder = 27rr” + 27rrh

Cube

Total SA = Cylinder + Cube - Overlap
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3 ) cylinder on a rectangular prism

4 cm

3 cm

6 cm

Area of cylinder = 2’ + 21rrh

Rectangular Prism ! ’

Rectangular Prism SA =

November 11, 2020

Total SA = Cylinder + Rect Prism - Overlap
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Homework solutions

page 40

¢) cylinder on a cylinder

2 cm-

long tube

£

10 cm

Area of cylinder = 21’ + 21rrh

puck shape

Area of 2nd cylinder = 2-|-rr2 + 21rrh

Total SA = Cylinder + Cylinder - Overlap
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a) 1.5¢cm

Top
Area of cylinder = 2-|-|-r2 + 21rrh

Long
Area of cylinder = 2t + 21rh

Total SA = Cylinder + Cylinder - Overlap
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- Homework solutions
Solutions

4 b) The cylinder is 3.5 m long with
diameter 0.5 m.

15m I 25

1.5 m Ry

2.5m 2.5m

Area of cylinder = 2t + 2qrrh

Prism 1

— a1

SA Prism 1 =

Cube

Total SA= Rectangular Prism  + Cube + Cylinder - Overlap - Overlap



	Page 1: Sep 19-8:18 PM
	Page 2: Sep 26-8:22 PM
	Page 3: Sep 26-8:22 PM
	Page 4: Sep 26-8:22 PM
	Page 5: Nov 17-1:45 PM
	Page 6: Sep 27-1:36 PM

